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QUESTION 1

Which of the following describes 6PE? 

A. P routers run IPv4 only. PE routers run IPv4 only and exchange IPv6 routes using MP-BGP. 

B. P routers run IPv4 only. PE routers run both IPv4 and IPv6 and exchange IPv6 routes using MP-BGP. 

C. P routers run IPv6 only. PE routers run both IPv4 and IPv6 and exchange IPv4 routes using MP-BGP. 

D. P routers run IPv6 only. PE routers run IPv6 only and exchange IPv4 routes using MP-BGP. 

Correct Answer: B 

 

QUESTION 2

Click on the exhibit. 

The link between routers R4 and R6 are configured with an admin group "red". What happens when the LSP is first
signaled? 

A. The LSP will go through the path R1-R2-R4-R6. 
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B. The LSP will go through the path R1-R3-R5-R6. 

C. The LSP is down because router R1 detects that no path can meet its constraints. 

D. The LSP is down because router R4 detects that no path can meet its constraints. 

Correct Answer: C 

 

QUESTION 3

Click on the exhibit. 

Which of the following about the bypass tunnel is FALSE? 

A. The router 10.10.10.1 is a PLR providing node protection for the router 10.10.10.3. 

B. One-to-one fast reroute protection is requested by an LSP. 

C. The bypass-link tunnel is used to avoid the link with the egress interface address 10.3.4.4. 

D. The bypass-node tunnel is used to avoid the next-hop downstream router 10.10.10.3. 

Correct Answer: B 

 

QUESTION 4

Which of the following about configuring an LSP path definition on an Alcatel-Lucent 7750 SR is FALSE? 

A. A path definition can have both loose and strict hops. 

B. A path definition can be configured with loose hops only. 

C. A path definition is configured on the head-end router only, 

D. A path definition is not required if CSPF is enabled on an LSP. 

Correct Answer: D 
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QUESTION 5

What is the purpose of a T-LDP session? 

A. It allows link LDP to be configured on the edge devices only. 

B. It is used to signal the transport labels in the provider core. 

C. It allows selective control over which devices are configured for LDP. 

D. It is used to signal the service labels in the provider core. 

Correct Answer: D 
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